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IV Semester B.A./B.Sc./B.Com./B.B.M./B.H.M./B.C.A./B.Sc./ (FAD)
Examination, May/June 2013
(Freshers + Repeaters) (2010-2011 & Onwards)
'ADDITIONAL ENGLISH (Paper - V)

Time : 3 Hours . Max. Marks : 100/90

Instructions : 1) Answer all the questions.

2) Mention the Parts and the question numbers correctly.

3) Freshers answering for 100 marks should answer 4 out of
6 questions in Part lI-C.

4) Repeaters answering for 90 marks should answer 3 out of
6 questions in Part lI-C.

. A) Write a dialogue on any one of the topics given below 10

1) A dialogue between Ravi and Shivu on their preparations for the trek
they plan to undertake during vacation.

OR

2) A conversation between two friends about a match they watched
together.
B) Write an essay on one of the topics given below 10
1) The need to eat healthy food and stay fit.
OR

2) Empowerment of women.

ll. A) Answer any five questions in one or two sentences | (2x5=10)

1) Why does Madame Popova want to enter a convent ?

2) What did the non-technological functions of medicine provide the
patients according to Sethi ?

3) Why have the doctors failed to fight against the falsehood perpetuated
by the drug industry ?

4) How was fever supposed to be cured a hundred years ago according to
Leacock 7

5) Why does Smirnov challenge Madame Popova ?
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6) What has man falled to split after having split the atom according to
Dalai Lama 7

/) Whatis an executive who plans ahead called ?
8) What happens to much of rain water ?

B) Answer ény five qUestions In a paragraph : (6x5=30)
1) How does Smirnov express his contempt for women ?

2) How does Looka try to convince Madame Popova to stop mourning for
her dead husband ?

3) What kind of change in medical research does Sethi wish to take place ?
- Why ?

4) How does Leacock make fun of the analytical laboratory ?

5) How would a doctor examine a patient with a bad pain according to
Leacock 7

©) "An Executive’s dilemma’ illustrates how difficult it is to please people.
Discuss.

7) "We spend more, but we have less” explain in the context of
“The Paradox of Qur Times”.
8) How does silt contribute to the formation of land ?

C) Freshers answering for 100 marks should answer any four of the following in
not more than two pages each (10x4=40)

Repeaters answering for 90 marks should answer any three of the following
In not more than two pages each : (10x3=30)

1) Looka is a good care taker of Madame Popova. Give instances from the
play to support the statement.

2) "We have started treating images rather than patients”, what does Sethi
mean by this comment ?

3) Why according to Leacock is modern medicine an inexact science ?
4) Why is water conservation important ?

5) How does the poem prove that no matter what an executive does, he
can never please anyone ?

) How do Popova’s spirit and determination bring about a positive change
INn Smirnov ?




